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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best
Then mark the answer on your answer sheet.

The impact of the sales presentation can gener

reaction.
1) released 2) exempted 3) endo 4) assessed

52- A marketing intermediary is an independe assists the -------~- of goods and
services from producers to customers.
1) role 2) profit 4)lure

53- Marketers attempt to identify -----S88------ ibutes, those that are important to
consumers and the basis for mg ase decision.
[) salient i elusive 4)separate

54- Sales promotion is gene ose marketing activities that --------- extra value
or incentives to the sale
1) convince 3) intend 4)compare

55- Advertising is the Best-known and most widely discussed form of promotion, probably
because of its

interaction 3) definition 4y mystery

56- iti duct usually occurs because of declining or ------------ sales or because

ici tunities in other market positions.

2) ultimate 3) stagnant 4) obvious
57- of the segmentation analysis will ---------—- the market opportunities
2) devote 3) seek 4)reveal
otion is the ---------—---- that marketers make to persuade customer or organization
about goods, services or ideas.
)} demands 2} etforts 3) samples 4)elements
59- Consumers want personalized products and services that are ------------ to their specific
needs and wants.
1) popular 2) durable 3) tailored 4) cohesive

60- Strategic planning typically takes a wide-view while tactical planning is more -------
focused and more short-term.

1) constantly 2) reliably 3) globally 4)narrowly



A axao 584C 5l o )l ol yIS 18158 5laoy93 (5 p1dy IS (y903T

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

If a manufacturer elects to follow a strategy of market segmentation he must be ab
divide the market into identifiable subsets (61) ---------- shares some (62) ------
characteristic. Thus there is a measurability (63) ----------- attached to the seg
strategy. The variables to be measured may be (64) ----------- with g¢
demography, or some aspect of consumer behavior. Regardless o

JUA) P— |

61- 1) of which it 2) each of them 3) that it ¢ ch OMiCh
62- 1) common 2) current 3) direct exticme

63- 1) stimulation 2) distribution oncentration
64- 1) delegated 2) recognized concerned
65- 1) can make 2) can be made an be done

PART C: Reading Comprehension
Directions: Read the following passage
choice (1), (2), (3), or (4).

el the questions by choosing the best
ghoice on your answer sheet.

PASSAGE 1:

The external analysisfecuses on factors such as characteristics of the firm's customers,
market segment nin&strategies, and competitors. An important part of the
external analysis tled consideration of customers' characteristics and buying

given to consumers' perceptions and attitudes, lifestyles. and
g purchase decisions.

nt of the external analysis is an assessment of the market. The
of various market segments must be evaluated and the segments to target
¢ identified. Once the target markets are chosen, the emphasis will be on
ning how the product should be positioned. What image or place should it have
onsumers' minds?

This part of the promotional program situation analysis also includes an in-depth
examination of both direct and indirect competitors. While competitors were analyzed
in the overall marketing situation analysis, even more attention is devoted to
promotional aspects at this phase. Focus is on the firm's primary competitors: their
specific strengths and weaknesses; their segmentation, targeting, and positioning
strategies; and the promotional strategies they employ. The size and allocation of their
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66-

68-

promotional budgets. their media strategies, and the messages they are sending to the
marketplace should all be considered.

The external phase also includes an analysis of the marketing environment and
current trends or developments that might affect the promotional program. For example,
food and beverage marketers have had to respond to the overall trend toward jgreater
nutritional awareness and an increased interest in low-carb products that has r ed
from the popularity of the carbohydrate restricting diets such as Atkins and So
Some companies responded to the trend by introducing low-carb products
knew the fact that their existing brands were already low in carbohydrates!
companies have also addressed the trend by providing more nutritio
their products on their websites.

An essential component related to external analysis is --------- .

1) an integrated marketing communication ¢

2) determining the marketing plan

3) increasing the attraction of market segments

4) an evaluation of the market

Which sentence, according to the passage is NOT

1) The customers’ lifestyles influence their omyi

2) Examining direct and indirect competi

3) The key benefits and positioning u
analysis.

4) External analysis is a name
situation analysis.

Deciding the way of po .

1) results in testing the h§andfweaknesses of that product

2) popular food brands
4) low—carb diets

An organization exists because it has some product. service, or idea to offer consumers.
Generally in exchange for money, this offering may come in the form of a physical
product, a service or even a person. The product is anything that can be marketed and
that, when used or supported. gives satistaction to the individual.

A product is not just a physical object: it is a bundle of benefits or values that satisfies
the needs of consumers. The needs may be purely functional, or they may include social
and psychological benefits. For example. the campaign for Michelin tires stresses the
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71-

72-

73-

quality built into Michelin tires (value) as well as their performance and durability
(function). The term product symbolism refers to what a product or brand means to
consumers and what they experience in purchasing and using it. For many products,
strong symbolic features and social and psychological meaning may be more important
than functional utility. For example, designer clothing such as Versace, Gucci, and Prada
is often purchased on the basis of its symbolic meaning and image, particularl
teenagers and young adults. Advertising plays an important role in developin
maintaining the image of these brands.

Product planning involves decisions not only about the item itself, such as d
quality, but also about aspects such as service and warranties as well as b

The product's quality, branding, packaging, and even the company sta
contribute to consumers' perceptions. In an effective IMC
branding, and packaging are all designed to portray the pr
bundle of attributes. All are coordinated to present an imag
that extends well beyond its physical attributes. Thin
Nike; the product benefits and attributes are us
information about the brand is communicated effec

ct as more than just a
itioning of the product

It’s stated in the passage, a product is --------—-
1) any service that can be marketed. use
2) a bundle of social and psychologic
3) any benefit or value satisfying th

According to the passage, ct, many consumers pay attention to ----------
1) the name of the compan

2) something more than just 1 ents and the product itself

3) its branding, pack ompany manufacturing it

4) the reality of the pr ?its ingredients
Advertising, bran packaging ------------ .
ion of a product

2) facilitate nce of purchasing

portant features of a product

the passage, the customers’ needs are primarily ------------ .

, social and psychological 2) personal or psychological
ial and physical 4) physical not social

d “attributes” in paragraph 3 means ------------ .

ttractions 2) properties 3) activities 4)relations

PASSAGE 3:

When products enter into foreign markets they must “clear” customs. A country's
customs acts as immigration control for products entering the country. Customs agents
inspect shipments to ensure that the imported products are properly documented. They
also collect customs fees, and they ensure that restricted products do not enter the
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76-

77-

78-

79-

80-

country. Restricted products could include dangerous products, embargoed products.
fake products, or products made from endangered species.

There are companies that specialize in helping products clear customs. A customs
broker is an intermediary that helps products move through customs. In the United
States, customs brokers are licensed by Department of the Treasury. They must
understand the tariff schedules and customs regulations enforced by the United
They must be familiar with the 500 pages of customs regulations and thousands o
items. Depending upon the item, a customs broker also may work with the Dg
of Agriculture, the Environmental Protection Agency, the

logistics to ensure that products reach their final destination.
There are a number of important documents that must accompa

carrier receives from the shipper. It also indicates hw th&goods wilk be shipped and
t indicates the country
in which goods being exported are obtained. prod
determine import duties, countries consider the
They also consider the country of origin when &
legally imported.

igin of imported goods.
hether the products can be

One of the functions of customs agentsf eontr e products entering the country is to

3) determine the best 1
4) define the tariff sche

1) limited
Transportatio istics ---557------
1) ensures the
2) works rokers to move products to other countries

between government and the country of origin
termediary to deliver the imported products to their destination

ives details about the type and number of the received products
received by a carrier

4) confirms the quality of the imported products

hich of the following is the main subject of paragraph 3?

1) Some specific documents

2) Qualifications of importers and exporters

3) Legal restrictions in trade

4) Bill of lading








